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EXERCISE 6.3
1.  State which pairs of triangles in the figures, are similar. Write the similarity criteria
used by you for answering the question and also write the pairs of similaltfriangles in the

symbolic form:
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Sol. (i) In AABC and APQR
We have:
2A=2P=60°
4B =2Q=80°
£C=2£R=40°
=~ The corresponding angles are equal,
=~ Using the AAA similarity rule,
AABC ~ APQR
2.  Inthe figure, AODC ~ AOBA, £BOC = 125° and 2CDO = 70°. Find £DOC, £DCO and
£0AB.
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. Sol. We have:
o¥ )uzs: £BOC =125°and £CDO = 70°
since, 2DOC + £BOC = 180° [Linear Pair]
= «DO0OC 180° - 125° =55° (1)
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In ADOC

Using the angle sum property, we get

£2D0OC + £0DC + £DCO = 180°

= 55°+70° + «DCO = 180°

=+2DCO =180° - 55° - 70° = 55° -(2)




Again,
AODC ~ AOBA [Given]
=~ Their corresponding angles are equal
And 2£0CD = 20AB = 55° -(3)
Thus, from (1), (2) and (3)
£2D0OC =55° £DCO = 55° and 20AB = 55°.
3. Diagonals AC and BD of a trapezium ABCD with AB || DC in'tb‘%rseég each other at the

point 0. Using a similarity criterion for two triangles, show that BO ~ DO’
Sol. We have a trapezium ABCD in which AB || DC. The
diagonals AC and BD intersect at O.
In AOAB and AOCD
AB || DC [Given]
o c and BD intersects them
~£0BA =20DC ..(1) [Alternate angles]
similarly,
20AB =20CD «(2)
~Using AA similarity rule,
AOAB ~ AOCD
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4. Inthe figure, QS " PR and 21 = £2. Show that APQS ~ ATQR.

T Sol. In APQR
7 wel=122 [Given]
~PR=QP (1)

[+In a A, sides opposite to equal angles are equal]
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0 5 q E “PR [Given] ...(2)
From (1) and (2),
GR_Qr_as_ap ,
Qs QP “QrR_ QT ~(3)
Now, in APQS and ATQR
QS QP
arR-ar From 3]

ZSQP = ZRQT=«£1
Now, using SAS similarity rule.
APQS ~ ATQR




